NOOw  NO8w  N1é6w NOOw  NO4w Ni2w  Ni6w NOOw  NO2w NO6w N14w  N16w

)

0 50 100 0 25 75 100 0 12

‘gerB0-6n, Test samples: 3, 5 and 9 colour steps, greu=0,500, expU=1,000, expa=1,000

wiy'siebpepuljeg-ny

. . 0, 44, 125, 229, 353, 494, 649, 818, 1000
Three, 5 and 9 colour steps for visual evaluation BIBERCK 0MOw BIBECK NaVGw WWATtEtAM

£ T S Y i £
-:l http:/farbe.li.tu-berlin.de/ger8/ger8I0n1.txt /.ps only vector graphic VG; start output - |/
f N] see separate images of this page:://farbe.li.tu-berlin.de/ger8/ger8.htm / N
-
k/tolour management for output linearization of a 9 step grey scale Colour management for output linearization of a 9 step grey scale &J
BB | waoop ' (dash-star) coordinatesto reach Lt W 1,00+ * (dash-star) coordinatesto reach 100, 1.3 150100 od
So e the linearized output with the real W the linearized output with the real s
g. @, W OutpU) Gispiay reflection in office room; output W outpUt) Gisplay reflection in office room; P output 53
o g output] jighter (positiv P) output start OutpUt jighter (positiv P) output 075,058 start jore}
52 0,75 0,751 W™ output = [W¥input] % real EE
o= ) _ , - — —inverse -
58 W output = [W¥input] 0% W™* output = [W¥input] 5% o e El g
89 =W* output =W* output . 2=
M o= 0,50 0,50 980 ‘ S
23 ** (star-dash) coordinates , * (star-dash) coordinates AN
= of real output with real 025,03 of real output with real =%
= g display reflection in office room: ’ 080,035 display reflection in office room; S 8‘
S 025 darker (negativ N) output 0.25 darker (negativ N) output 2R
g8 W¥ output = [W¥input] +°%° ;-‘8
== @
Eg W¥input = rgb* (=0, 0,125,0.250..,0875, 1) 000,000, W¥input = rgb* (=0, 0,125,0.250...0875, 1) g@
v =8 . 04 oo
5 = N 0,00 0,00, 0,00 N0,00 0,00, 0,00 0,00, 0,00 =)
=3 0,0 0,25 0,50 0,75 1,00 W N 0,0 0,25 0,50 0,75 1,00 W 35
g g ger80-3n gerB1an g a
® 0, 125, 250, 375, 500, 625, 750, 875, 1000 * = +1 = = 2%
[} Three, 5 and 9 colour steps for visual evaluation BIBGCKOMmOw BIBHCN MW wWiitgw - TUBLOG,U =50 10g(Y /5Yy) +50, Yy =4, Yy =20, Yiy =100 ° =
S~
z 2%
= v
g i
Q
Q. <
g o
: S
o
=5
2
S o
=
=3
e}
=
s

ap uljleg-ny

NOOw  NO8w  Ni16w NOOw N16w NOOw  NO2w

BT

o v




